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1 35 30.3 0.865 28.4 0.812
2 60 714 519 714 0.865 49.8 751 0.830
3 50 A 167 432 A 167 0.865 43.8 A 119 0.877
4 40 A 20.0 160 34.6 A 20.0 0.865 37.9 A 134 0.949
1 35 A 125 37.2 7.6 1.064 36.4 A 40 1.040
2 60 714 63.8 714 1.064 65.7 80.3 1.094
3 48 A 200 511 A 200 1.064 52.0 A 208 1.083
4 45 A 6.3 200 479 A 6.3 1.064 459 A 117 1.021
1 42 A 6.7 34.0 A 290 0.810 38.2 A 1638 0.910
2 70 66.7 56.7 66.7 0.810 574 504 0.821
3 55 A 214 445 A 214 0.810 423 A 264 0.769
4 43 A 218 170 34.8 A 218 0.810 321 A 241 0.746
1 37 A 140 30.0 A 140 0.810 27.6 A 140 0.746
2 55 48.6 445 48.6 0.810 410 48.6 0.746
3 41 A 255 33.2 A 255 0.810 30.6 A 255 0.746
4 40 A 24 324 A 24 0.810 29.8 A 24 0.746
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